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Trigonometric ldentities

sin(x + y) = sinx cosy + cosx siny
sin(x — y) = sinx cosy — cosx siny
cos(x + y) = cosxcosy — sinxsiny

cos(x —y) = cosxcosy + sinxsiny

tanCx + ) tanx + tany
an(x =
y 1—tanxtany

tanx —tany

t —y)=—
an(x - ) 1+tanxtany

sin 2x = 2 sinx cos x

cos? x — sin? x
cos2x =1 1-—2sin’x
2cos?x—1

2tanx 2 cotx 2

tan 2x = = =
1—tan?x cot?x—1 cotx —tanx

X 1-cosx X 1+cosx
sin= =+ ’— cos-=+= ’—
2 2 2 2

x 1—cosx sin x 1—cosx
tan— = - = = i
2 sin x 1+ cosx 1+ cosx

T .
Cos (E - X) = Ssinx

. T
sin (E - x) = Cosx

4
tan (E - x) = cotx

r(f LEARNING COMMONS

Trigonometric ldentities

. o (xtYy xX=y
s1nx+smy—251n( > )cos( > )
. o x+y xX=Yy
s1nx—51ny—2cos< > )sm( > )
cosx + cosy = 2 cos <x +y) cos (x _ y)
Y 2 2
x

sin?x 4+ cos?x =1

1
sinx cosy = > [sin(x + y) + sin(x — y)]
1
cosxsiny = 3 [sin(x + y) — sin(x — y)]
1
sinxsiny = 3 [cos(x — y) — cos(x + y)]
1
cosxcosy =z [cos(x + y) + cos(x — y)]
) 1-cos2x 2 1+cos2x
sin®x = — cos‘x =
2 _ 1-cos2x
tan®x = 1+cos2x

by T
sec(;—x) = CsCcXx CsC (;_ X) = Ssecx

cot (g - x) = tanx






